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CBOD,HbIe JaHHble
Kypc 1 Kypc 2
yP yP UTtoro
ceM. 1|ceM. 2[Bcero|ceM. 1|cem. 2| Bcero
TeopeTunyeckoe oby4yeHne 1
P y 16 4/611 4/628 2/411 2/6 L1 2/639 4/6
paccpefoTOYeHHbIe MPaKTUKK
3 |39K3aMeHaumoHHbIE ceccumn 22/6] 2 |42/6] 2 2 [62/6
Y |YuebHas npakTuka 4 4 4
H [HayuyHo-uccnen. pabota 2 |[32/6|52/6|24/6 24/6] 8
M [Mpon3BoacTBeHHas NpakKTukKa 4 18 | 22 | 22
1 MoaroToBKa K 3aliuTe U 3aliuTa 5 2 2
BbINYCKHOW KBanudukaLmMoHHoW paboThbl
r MoaroToBka K caaye u caaya roc. 5 2 ’
3K3aMeHa
K |KaHukynbl 2 8 10 2 8 10 | 20
UToro 23 29 | 52 | 22 30 52 | 104
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